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C3 C4 52 Survival Kit

Core 3

Pg2 Algebraic Fractions

Pg2 Natural Logs

Pg3 Derivatives

Pg4 Trig Formulae & Rcos(x+a) for finding max/min
Pg5 Using recurrence relations fo find approximate roots to f(x)=0
Pgb Range & Domain, Inverse, Composites

Pg7 Graph sketching

Pg8 Modulus equations (solve using a graph)

Core 4

Pg9 Implicit Differentiation

Pg9 Partial Fractions

Pgl0-14 Integration

Pg 15 Trapezium Rule

Pg16 Binomial Expansion

Pg17 Differential Equations
Pgl7 Connected Rates of Change
2918 Parametric Equations

Pg19 Vectors

Statistics 2

Pg21 Accuracy

Pg22 Binomial Distribdtion

Pg23 Poisson Distribution

Pg24 Approximation Triangle
Pg25 Continuous Random Variables
Pg26 Continuous Distribution
Pg27 Hypothesis Testing
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* think you should be more
explicit here in step two.”



Typical expensive errors include:
* Expanding brackets wrongly

e.g. 5—3(x+y)¢5-3x+3y
* Massively overcomplicating the algebra
e Letting a minus sign defeat you

e Using brackets incorrectly

e Cancelling things illegally by just crossing them out
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Natural Logs

e=2718.. logx=laxine=t IJhl=zo0

Usual laws of logs apply:
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Derivatives to learn
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Oooo lovely: Trig Formulae
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For Rsin(x+a) the maximum, R.., is achieved when x+a= .. A0, 450. . -
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Using recurrence
relations to find
approximate roots

x2 - 5x =3 has a root in the interval 5 < x < 6.

/f(f= ... is continuous and \ |

changes sign between x = a
and x = b, therefore f{x) has a
root between x = g and x = b.
This proves that the root is
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Show that the root of this equation also solves the equation x = V5x + 3
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Take Xo = 5 and use iteration to find 4 improved appr‘ox1ma‘r|ons to the root of

the equation x? - 5x =3 g, =S

Prove that the root is 5.5 to 1d.p.
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Range & Domain, Inverse, Composites
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Graph sketching
is fun (yes it is)
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Remember to show the x-intercept: and the y-intercept:

Now you can apply combinations of these transformations to e* and Inx
Always label the equation of the asymptote!




Modulus Equations need to be //\

solved using a graph so you know SRoATT \

which equations to put together!
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